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1. Let (An)n>1 be an independent sequence of sets with Z P(An) =+ . Find
n=1

anlAj (w)
limZ2>

N—>-+o0 Z P(AJ )
j=1

where 15(w) = 1,we A 0O, wegA

and proveit. (25%)

2. Let Xn have the binomial distribution with parameter (n,p,)), and suppose
that np, — A > 0. Prove that Xn converges in distribution to the Poisson d.f.
with parameter A . (25%)

3. Let(X, ), X berandom variables and supposethat X, — X in probability.

L1

Show that f{X.} L) f(X) for al bounded and uniformly continuous function
f R>.R

n>1

(25%)
4. Let(X,)

02,0< 0% <+, LetS, = Xg+ Xot oooot Xy

be independent, identically distributed with mean 0 and variance

n>1

Find
. s

E n

limEC7D)

and proveit. (25%)
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